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— (a) Find a basis for the column space of A and determine its dimension.
—3 (b) Find a basis for the row space of A and determine its dimension. 1A 0
. (c¢) Find a basis for the null space of A and determine its dimension. N (A) -> the solutien  spac— bo Xx=

(d) What is rank(A). Null( A)?
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8. Let P be the vector space of polynomials in 2 with degree less than 3. Find a

basis for the subspace of P3 defined as below:
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3. Check the given set of vectors for the two properties separately:
Is the set linearly independent?/ Does it span the given vector space?
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(a) Show that E and F are two bases |'->1 - d\~
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